Séquence de Nombres Linéaires (E)

Remplissez les nombres qui manquent de chaque nombre linéaire.

! ! !
196

1
-254

Différence commune:
| | | | | | | | | |
| | | | | | | | | |
91 41 -9 -109 -159 -259 -309
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
93 83 73 63 23 13
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
95 85 75 65 45 35 5
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
106 6 -44 -94 -194 -244 -294
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
46 -29 -179 -254
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
153 53 -147 -247 -547
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
85 75 65 5

Différence commune:
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Séquence de Nombres Linéaires (E) Réponses

Remplissez les nombres qui manquent de chaque nombre linéaire.

|
! !
196 146 96

| |
! ! !
46 -4 -54  -104

| |
-154 -204

1
-254

Différenc;)mmune: -50
| | | | | | | | | |
| | | | | | | | | |
141 91 41 -9 -59  -109 -159 -209 -259 -309
Différence commune: -50
| | | | | | | | | |
| | | | | | | | | |
93 83 73 63 53 43 33 23 13 3
Différence commune: -10
| | | | | | | | | |
| | | | | | | | | |
95 85 75 65 55 45 35 25 15 5
Différence commune: -10
| | | | | | | | | |
| | | | | | | | | |
106 56 6 -44 -94  -144 -194 -244 -294 -344
Différence commune: -50
| | | | | | | | | |
| | | | | | | | | |
346 271 196 121 46 -29 -104 -179 -254 -329
Différence commune: -75
| | | | | | | | | |
| | | | | | | | | |
253 153 53 -47  -147 -247 -347 -447 -547 -647
Différence commune: -100
| | | | | | | | | |
| | | | | | | | | |
95 85 75 65 55 45 35 25 15 5

Différence commune:

10
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